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Which of the following is the non-sinusoidal oscillator?

(A) LC Oscillator (B) RC Oscillator
(C) Crystal Oscillator : (¢ Multivibrator
 Epsam_aip Bl ag s agaupp S@olubil?

(A) LC simallupd (B) RC simauilupd

(C) uge amauiumhbl (D) udwdredl

Which is called as blue vitriol?

(A) CuSO..5 H:0 (B) CusS
(C) CuSOs (D) CuSO.H:0
wullé) H550 araTpaipsHLILBUE 52 :

(AW CuSO04.5 H:0 (B) Cu:S

(€) CuSO, (D) CuSO.H:0

What is the pH value of 0.001 M HCI?

4

(a)y 1 S 1) oS

(@ 3 @) 4

0.001 M Qsifley Qanaer. HC én pH wfiy wrg?
a 1 B 2
<€ . 3 D) 4

Ethoxy Ethane and 1-Methoxy propane are

(A) Functional isomers (B) Optical isomers
{G), Metamers e (D) Tautomers
resrsall rECsan whmb 1-Bssréell riCuear fwemey
A) cleoer Qewd AsrEH mnﬁ@u@m B) gafl sH wrPHwiss
© @ewesr wrpRurisds D) Quriig s Hlovew wrpHuisser
3 ) ATOGS/19
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5. _Haw many ATP and NADPH: moleculaz are utilized during one COx ﬁ:-cat.iqn by RUBP in
photosynthesia of dark reaction

(A) 1ATP and 1 NADPH; (B) 2ATPonly
(C) 2 NADPH: only (W 3 ATP and 2 NADPH:
pelsGosansuiicn snadller sppflle: RUBP @ smiudamLwunémen® (CO:2) Seafngsiniio
Gurg vweniBEstu@s ATP wHmn NADPH: wing? _
. (A)-  1ATP wppb 1 NADPH, ' B) 2 ATP i@l

(C) 2 NADPH: o' (b : (D} 3 ATP whge 2 NADPH:
6. Statement : In few vears caastal areas like Chennai may be submerged due to rise in sea
level
Reason : Expulsion of carbon di oxide leading to global worming
(A) Statement correct and Reason wrong -

(E" Statement correct and Reason alzo correct

(C) Statement wrong and Reason is correct

(D) Statement wrong and Reason is also wrong

snfy : - Gengid Ho KemBaais sLd B wilin 2 wipg Cedenan (Eurrw,m m_{}a:um;r u@ﬂﬁm

Bilch ap e S L eang

srpesnh t  fls yarey arTLET U sy sea (R Qe L seiramtyg. oS3 silemaTe gHLBRESTD
A mipp ol smpawd gap

B)  seom M sroawd #f

©) =pyseup srgeand &l

D) =pmseup STEMND Soug,

T. Streptococcal bacterial infection causes
{A) Carcnary artery disease (BIRhaumntic heart dissase
{C) Atherosclerosis ' (D) Heart block
o G e _rarsad) e fluheds srégeasna Carengn Gemo
®)  @ouipood Gpois B) wonas@eu Gpmi
O  Glsw Qriss Gl Sy D) @pus gaer & siom L1y
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10. .

The first ever satellite Sputnik 1 was launched in the vear of
(AP 1957 (B) 1958
C 1971 Dy 1972

2 adlan (pge Bewpens Gamear suylaflls 1 eflsnaflar grauliul L syem(h

@A) 1957 (B) 1958

(€ - 1971 : (D) 1972

Which one of the following is the highest cloud in the sky?
{ﬁ] Cirrus (B) Nimbus
(C) Stratus (D) Cumulus
Wemaupeueneumbled &7 ::_-ﬂahrmﬂcb 2 Wit oL GLOSRISET @07
(A)  &pp Gusb (B) &nim G

(C) ueL CGuwabd : (D) Ayer Guosb

In which forest the Red Cross bill bird lives?
(A) . Evergreen forests

(B Deciduous forests

{Cy Mountain forests

([v Coniferous forests

Qrldlgreulld upeneu eTlhs smhsatla sumpslenmas?
(A) usenwLLIHTE STHSET

(B) @Rescoydli sn(pser

(C)  wemars srpEer

(D} smdluflemers smiR&eT

ATOGS/19
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1 1 Which one 1s correct?

(a) Partition of ﬁengal 1. 1930
(b]. Lucknow Pact 2. 1942
{c) Salt Satyagraha 3. 1916
(d) Quit India Movement 4’ . 1905

.(H} (b) (c) (d)
adl 4 hi et 2
® 1 2 3 4
© 3 s st 4

'{_D}z nin 4 1

o3l ey GummESOTENS?

(@) cuisl Gfcflenen 1. 1930
(b) @&Cam QUUESD 2. 1942
© el ssBunsdyss ' 3. 1916

@) QeadmenuCGer QauaiCuy Guésd 4. 1905

(a) (b) (c) (d)

A 4 3 1 2
®m 1 '2 3 4
) 3 1 2 4
D 2 3 4 1

ATOGS/19 6



- 12,

13.

14.

The Allahabad Pillar inscription was inscribed by his minister

{(A)  Aryabhatta ' (B} Saragar

(C) Varahamihira {[V Harisena
SHETUTE Salleuent U1 GundlEseul @ars) SianofFsm ———— Speu.
(A) myiwlw | (B) &gam

(C) : surmEOlElrT £ (D) =M Gaamit

Who i}s regarded as the ‘Father nf All India Services™

(f—'i:; Dr. B.R. Ambedkar

(B) Jawaharlal Nehru

(Caf# Sardar Vallabhai Patel -
(DY  Dr. Rajendra Prasad

simansdBEL Laflaaflen Spms e SmPEEILGUIT?

(A) Dr. B.R. ouGugsit |

B gaaiensd G

(C)  srgnmeuspenuimi L G ey

(D)  Dr. @onGgidlyls Sysns

World Consumer’'s Day is celebrated on
Ay March 15 _ (B) March 16
(C) March 14 (D) March 11

2 @& BETCaT b Asrarm (LD Brer

(A) womrElS ; (B) womtEl6

(C) wmr&ld : (D) womig 1l

7 . ATOGS/19
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15.  The central vigilance commission was set up by

(4)  Resolution of the state legialature
(M Executive resclution of the {jentral Government
{Cy  Constitutional provision
(D)  Act of the Parhament
Wl ESTETARTIL| D enamTD SaDEEUL L g
(&) wrde sl wamiisaland Qaren augiul L Eforergdamg
(B)  wafw sigdlen dewen & gpean SforargSe Ly
{0 ewfluasmedy &L gSaTg

(I urpregwenn #171_&E 6 apeoih

16.  Who is the known as the “Key stone of the cabinet Arch™?

{A) President (B) Viece President’

{Gy™ Prime Minister (DY Speaker

| ADFFE GUETGIET iy LILianL & & aTat =Spen pESLILIusUEY

{A) @gUTSE SEE06UT (B} Zienews s unss sevaauft
(C) 7l £ty . {D)  sumEmLET

17.  In which year the first All India census was completed?

A 1872 (B) 1881

(Cy 1991 : o {Dy 2001

(ngeomang e @A Inbsar Qg,nmaé Far&EFHOIY apydeliul L .;gj,mr@ g 3N
(4 1872 | (B} 1881 '

(Cy 1991 (Dy 2001

18, In which Part of the Indian Canstitution and Articles deals with Elections

(A)  Part IX, Articles 326328 (EVPart XV, Articles 324-329
(Cy PartX, Articles 326329 (D} Part V, Articles 325-328
EhEhn sy Eiueren o e m,ﬁ.g} ugndl whmh & oy sdar sz UDIIUSTED

&) uvEd X, = mlysdar 326-328 (B) uEd XV, e miysdr 324-329
€©)  usd X, o miysdr 326-329 (D) ugd V, e mlnsed 325-328

ATOGS/19 : 3 | ¢



19.

Match the following :

{a) Adam Smith 1
{(bY J.M. Keynes 2
(c) The Sabbath e

{(d} Jubilee 4,

(a) (b) (© (d)

Ay 2 158 3 4
(B) 2 3 4 1
(C) 4 2 1 3.
(]], 2 4 1 3
AurmEgs :

(a) .:g;,a_:.b:sh.uﬁlg

(b) J.M. Eeneiv

(€} Gsus

(d) gOOef

(a). ) © @

A 2 1 g
(B) 2 3 4 1
© 4 2 1 3
O 2 et s

Weelkly day of rest
Father of Economics
Year

Father of New Economick

curpm &y el Hpenp

Qurmeflwdlen sHans

eu(mL_LD

yfw Qurmeflweien shHens

ATOGS/19
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20.  Which one of the following was not identified under the Basic Minimum Services Programme
of the Ninth Five Year Plan? '

| (A}  Availability of primary health fac:lht:les
(BY Provision of drinking water
(G Stzengthening efforta to build self reliance
(D) T.fnwersahsatmn of primary education _
5&95‘.1@@“'@-@@@1 PN REALIHTEE E.'bﬁﬁm@' L pBen 5 @@pbsULS figlueL Lafllsar
,r.;'r,"h_l_g,@m @b Gupslldamea
(A)  prou ssTERT msﬂsmm‘r Q15 H(mEd
(B) simemeupsgi urrg.;.snﬂunm g BT cupRIESeD
(C).  shsriemu sieraghamer wowbilssner suflanonBE s

D) yrbué socl siwaruEsED Hon_ss Qauise

21.  According to 2011 census the state havihg maximum population?
. (M Uttara Pradesh o (BY Maharastira
() Tamil Nadu S (D) Kerala
2011 wéad Azras sars@sBridaiy, aps rHasHs wisd erms Hfmers o dag?
@A) 2580 GCesd - B wsrmdyegT
© OO D) Gapen

22.  'The total value of ontput produced by the factors nf production located within the cuuntffs

boundary in a year is . .

{A) " (ross National Product ('B/ Grogs Domestic Product

{C} Net National Pmduct . (D) Net Dur_nestii: Product

B BEGD Dilad TMOEES i apusfé straflsame o AULES QiU
Qaafidiffsaian Qungs wd iy _ '

(&) Qurispn G epusd B) Qurss e amn_f epuss

€  Parpi @ epuss D) ParodpriG o pusd

ATOGS/19 S . 10 | *



Match List I with List II and select your answer using the codes given below. :

List I List II
(a) Swayamisidha 1. Trai_n.ing and Employment Programme for Woman
- (b) STEP 2 Access to micro credit and prumotiﬁg micro enterprises
() Swadhar 3. To provide holistic and integrated services to woman
4. To provide training skills to woman for self employment

(d) Swalamban

(a) (b) (c) (d)

(A 2

1 3 1
B) 1 2 3 4
©) 2 1 4 3
D) 4 1 2 3
uCgwe I pulywd Il e dr @eanssan
g web I uCigwieb II
(a) swobledlgm 1. Guensgnésrar CeuanaveumiiL| opmb uLLS];E:.fI Sl b
(b) ew@Ll -2, SpsLer womn Ay@smlda apenGeanhmd
(¢} &Ceaugi 3.  Quensenssrar gmenwliun® HHIb Lalsbams Smeaug)
(d) &sGeueibuien 4. Quegsiense uuins mpb@u.b swGgmfleller Ly sumiitig

2efiiug

(a) (b) () (d)

(A) 2 1 3 4
®B 1 2 3 1
©C) -2 1 1 3
(D) 4 1 2 3

When was the Muhammadan literary society was set up in Calcutta?

(A) 1850 (B) 1855
(C) 1860 o/ 1863
saagareild apewndw Gasdwus spsd eruGurg GarbmelldaluLg?
(A) 1850 - (B) 1855
(C) 1860 (D) 1863
11 ATOGS/19
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25.  The first Dayanand Anglo-Vedic (DAV) School was formed at

{(A) Lahore - (B) Gwalior

() Delhi . . i (DY Chennai
(pgenag swinahs -&'ﬁ:ﬂﬂw" Couguienafl (. qr.6fl} Bpalue Guw
A ansi ®) @eurdui

(C) el : Dy Greéranar

26. Masatch the following :

{a) Calcuita Corporation Act 1. 1905

(Y  The Universities Act 2. 1907
‘(c) Partition of Bengal 3 1899

(d) Surat Split 4 1904

@ ® @ O

Ay 1 3 4 2

&f 3 4 1 2

{Cy 4 1 2 3

® 1 2 3 4

Spacin_cupep urgss

(a) sdsssTwIpEITCA S LB 1. 1905

(b) uUdaews EPas FLLID 2, 1907

(0) ebmsd Dfctlenan 3. 1899

d) @95 Gersy 4. 1904

@ (b) (e) @)

Ay 1 3 4 2
B 3 4 1 2
© 4 1 2 3
M. 1 z 3 4

-

ATOGS/19 12



27. ..

28

2,

If 20% of pure acid is in 8 hitres of a einlﬁtinn, how many litres of pure acid is in that soclution? '

(A 1.4 . (B) 15

(C/ 1. c h _ (D) 24

- B el senraabler 20% gmu <y Bautb o eireng) erafilew, il EHen I LI HaTey Hrewms.

A 14 . . © (B) 15

© 1.8 ) 2.4

Dné-ﬁfl:h of a number exceeds one-seventh of the same by 10. The number ia

(Ay 126 _ (B} 150

«f 175 | D) 200 |

BEHS @@ LR AL o dmar o e, #Gs e 996 B@ s 0D o dren
sﬁtg,@m}mih aald Sibs o LTE? | -

Ay 125, | o (B) 150 .

) 1p : ' (D) 200

L]

- Find the missing number

3251 + 58T + 360 — 7 = 3007

(A} 1250 o . (B 1300
© 1375 1200
L L eremanantds SRE : '

3251 + 58T + 369 — 7 = 3007

(A) ~ 1250 g o (B) . 1300

L (© 1875 L @ 1200

18 . ATOGS/I19
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30, A train 75 m long 15 moving at a speed of 45 km per hour. How long will it take to pass a
platform 200 long?

(A) 42seconds _ o (B, 22 seconds
(Cy 20 52(‘.011&;3 ' ' . | Dy 36 seconds
75 ;.E;IEW@@HI_H_I R @@m BArnbder Ceumb, waflsg 45 4.8 erafld, Eﬂjﬂ'.lﬁ BargpenLw @rden )
penL_Guwafaen eridsd DaTdnapb s e wng?

(A) 42 dNarmgadr (B) 22 cfenmg sar

© 20 afemgasdr (D) 36 eflenmg s -

31.  What would be the measure of the diagonal of a square whose area is equal to 882 cm??,

{A) 38cm (B) 32cm
o 12 cu - D) 48em
882 Q.5 g LpULINES Qanar_ sarsdler, apeneell L bddn iaray eree?
(A) 38 Qo8 B 32 Qs
-Gy 42 Qedb o (D) 48 Qs.S

32. The ratic of heighta of two t-:ylinders of equal volumes is 1 : 3 then the ratio of their radii will

be
@ 4:dE . ® 3:248

© 2:48 o 3: 3 |
@.}mg » apdsiaiel 5io Aenpiera, o_drar & Liiisahidr Adgb 1 : 3 el Sipen g risaiien ol dsn
erasen T | | ' ' 1

(&) 4:43 | .{B} 3:243

liC}' 2 \E | D) 3:43

ATOGS19 - ' 14 - : | L



33.

34

a5,

The mﬂnthly salar}r of A, B C is in the proportion of 2 3:5 If Cs munthly salary is

Bs. 1,200 more than that of A, then B's annual salary is

_{A)/ Rs. 14,400 (B) Rs. 24,000

() Rs. 1,200 o (D) Rs. 2,000

A, B, C gdlw @mn&aaﬂm Lnrrg soLiar eflfsh 2 ; 3:5 ._-%@m C— & umg suemd A e srliggib
5. 1,200 myflab srafléo B e %m@ #bLaTh Grmm'?

(A)  m 14,400 (B) . 24,000

© ® 1,200 : (D) @ 2,000

"The Eil].].'l of the length, breadth ard depth of a cuboid is 19 cm and ite diagonal is 51@ cm. Ha

total surface area is’

(A)  36lcm® (B) 125 em?

(c;/ 236 om® - . (D) 486em?

(5 S @mmﬁéﬁm Bomib, i wHRD At Buepic M’Eﬂﬁm 19 Gs.15. Cuogud g
gpane am._._g@m Band 545 Gauf. creaflep siem Quomdls LIUIL erenLigy

(A) 361Qsifz (B) 125 Qo8

© 236Qs | (D) 486 Gs.f?

. The ratio of volumes of two cubes is 8 : 1 then the ratio of its sides is

4 8:1 - - (B 242 :1

(CV 2:1 o Dy 64:1

@ran® s sgheon ser erelid fsmEm oty 8 1 1 aafld e Lés siemasmain
aﬁlaﬁﬁgmﬂ&;@. a

) 8:1 o ® 242 :1

© 2:1 | (D} 641

15 ATOGS/19
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36. 15 persons can ﬁH 35 ‘bmxe{a in 7 days. How maﬁy PEFS0NS can Iﬁ_ll 65 boxes in 5 daya?
@) 13 | @l 39 |
© 5 - ®e
15 Guir 35 AUy saner 7 Bl safls ﬂgﬁumnﬁﬁﬁ sreled, 65 GUIIL_.I.q_&H}ﬂT 5 wrafie ersemen oy sar

;ElmJLjaJrrfraasiT? .
(A 13 o '-(}_3:.' 39
© 4 - ™ 65

87, The L.C.M nf two numbers is 2310.and their HCF i3 30. If one number is 219, the other

number is _ _ .
(Ai,_ 330 ' : S . {B) 1470
© 2100 . R (D) 18170

B erawmsatian S.QAumw. 2310, sieuhfldr B.Gure. 30 Giogybd, seupfler g adr 210 aefld,

. DTG eTeRT TeTLIg)
(A) -330 . B) 1470
{Cy . 2100 . (£ 16170

38. Find the median of the following data : -

28, 7, 15, 3, 14, 18, 46,59,1,2, 9, 21 -

(&) 185" _ . (B) 46.5
© 285 . o o 1245,
Epsramnd yearafl efleursdlern @enFlene miaranans Fres ;
28,7, 15, 3, 14,18, 46, 59, 1,2, 9, 21 - |
(4) 185 . (B 465
© 285 , (D) 145

ATOGS/1Y . 18 y : a *



39.

40.

Match the following :
(a) Communal G.O. 1. 1929

(b)  Staff Selection Board B 765

() Andhra University 3. 1921 .

(d) Annamalai University 4, 1924
@ ® © @

o3 1 2 1

By 4 3 2 1

(C) - 2 1 4 3

) 3 1 2 4

Spaam_eupenpls LLIm(HESS :

(a) Gl aesss B parenem 1. 1929

(b:; wesstlwrer Gaitays SLHELD 2. 1926

(© S udsmasspsD 3. 1921

(d)  icwenmmoenell LdsmEspEn 4. 1924

(a) (b) (c) (d)

(A) 3 . 4 2 1
(B) 4 2 1
©) 2 1 4 3
) S 2 4

%
International non-violence day is celebrated on

(A) 16t May : (B)
(C/ 2m October . _ (D)
sieuCss siaflibans SHend Qaramm OLFD prer

(A code T Ay B)
Q) =&Gumui 2 (D)

17

10% November

12th December
meuum 10
g FouT 12

ATOGS/19
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41. How many Rajya saba seata has Tamil Nadu?

(A 17 By 16
< 18 D) 19
FLOND BT 1 @ cTESene TN FLUT BN _rhimeT o draten?

& 17 (B) 16
© 13 o 19

42, Which is the largest river island in India?

(&) Sri Rangam ' &/ Maj uli
(C)  Minicai (D) Hoogley
BpHureien ds0 Quily gypBiem Sa orx?

&) uBpissd ®) ogwd

(€  Bafssmi . (D) o9k

43. Where is Cotopaxi volcanic peak found in?

(A South America (B) North America
(C) Africa (D) dJapan
sm__ursall enfltene HAsmb o SanBgicTerm?

(A Qs CGufésr - (B) aL NGQofssT
(O  guisar D) govumrer

44. Name the biggest salt lake of India.

(A) Chilika (B} Kolleru
G Sambhor @) Pulicat
@pAuraiar Vsn@uflu e iy gfl ag?

(A)  Heblar (B) Qarégur

(C)  embumr _ (DY  uBeaupard

ATOGSN9 18



45.

46.

47.

India recently took agreement with 10 pillars of C-::-Dperatmn to enhance cultural ties to -

whlch of the following countr_v'? _

(A Japan ; (E/Chjna

(C) Pakistan . (D) Bangladesh

garsery o.paEee GLoLu@ss @Edur abs BTCGLe &Lﬁugﬁm 10 Hdugofr qrﬂpgjwrrrm
PuUUBES®S TDUBHHE Aandng? '

(A} gouner (B famn

- {C)  undlaugren _ (1)  eukisnar Ggaw

Union Government launched the GOBAR-Dhan Scheme for -

(A Weavers ' -, (By Traders

(G Farmers (D) Children

wiHu gemzidar GOBAR-Dhan AL b Saeughib winesns gkt v g?
(&)  Apsanaiser (B) ealshadr

€  eHausmGsd - D) Epsmpser

Ayushman Bh-arat Scheme is related tu.
(A)  Rural electrification

(B) Rural cmployment

{(v National Health Protection Echeme"

() Urban household electrification

Spwjepomet LagE S B s dr GEm_in e wg?
(&)  Armolym Ber Benewriiy

B Amotiyp Geumasaimiiy

) GCsflw paé srod@m H b

D)  psigp SOsEsEsme B G

19 ' ATOGS/19
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48. A projectile is fired at an angle to the vertical with a small velocity. Its horizontal range will
be maximum when the angle to the vertical is

(A} 120° - B) 90°
G s | a (D) 80° -
EROGCL, Ganamgdle ganhs SmeGauaggld criibummer Gsrﬁjgggﬁr& G Gprédl erdlwiuBEmg.
dlen gor dbds Aumewsns Blmés ardlu Goudimg ur GCamenmd erever?
(A)- 120° By 9o0r

o

e’ 450 (D) 30°

49.  The clouds float in air becaunse
(A) they are at a low temperature
.{B} ‘they are less viscous
(Cw” they are IEBB dense
(DY alow pressure is developed there -

srpfid Cuskisd 5Eswise sryar
(&)  @eppsAuuufiea

B  ooppsunpon

(C) @aphs Siey

(D) @onks SpESD & meurg s

' 60.  Sound travel in air in the form of

(A) atraneverse wave

B a longitudinal wave -

(C) _bﬂth as longitudinal and tranaveras wave
(D)  none of the above

MDD gl SIPDET UTRISD U RND

(A) @mssEe

(B) Gplimesd .

(C) .G,r_r; L nREET WHnD GoSSaEaT

(D) Cuopadrn_ ggib Hdeon -

ATOGSIIB . 20 L 4



51,

52,

B3,

Which one of the following ie uzed as a fuel in nuclear power plants?

@w uws ® PU

(€ Bail - ' (D) Bawuo
ﬂ&mu@.é_lmmg}jﬁl@ TS B Oleh o aasais aflAUTmaTEL LiwerLHE g ?
(A-‘/ U:ms . ._ {B} 3 Dp

(Cy Baul - | . (D) Baww

. .

r

If solanum nigrum- helungs tu snlanaceae acalypha indica helungs to Euphorbiaceae, Cissus
quadrangulariz helongs to

(A/ Vitaceae
(B) Verbenaoeae
(Ch leaceae

(I Rutaoeae

Qemarent mgawm - GemwnGadl GHbusmngs STAbES), signcflun Genger - Hﬂumrﬁlﬁu_uﬂ
@@mug,ﬁ]g& NS, g @Gurn_mrm@a}mﬁm Grgng. @@mugmg& HTEES? '

{A) aanl LA

(B) GeumdGens

| () eaCurCondl
. (D) @ CLA

- {B} Zeamays

“A plant was introduced from China which is enltivated No. 1 variety in Punjab. Such variet:..r is

(Av Phaseotus mungo

(Y  Sclanum tuﬁerusum .

(D) Lycopersicum esculantum

. Fenreflefl(mbE B ;ém'.q.j:i:r@ a;ﬁl@pmﬂg@gﬁuuLL sreumh FHEumg u@f.&rrﬂﬁ]é: No. 1 aupswrs .

LA OUREDE? g sreuySElstt duwm

(A)  GuadGureets upiGer o ;
(B)  ZwuaCuwe

() Gleramamb gypuGrranib _

I eselardurdasd s METL_ED

21 - - ATOGS/19
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54. The calorie requirement for TRM at moderate work during Basal Metabolism {BMR) is

(A} 1220 calories (B). 750 calories

Cy 1100 calories = : : {DJ 460 calories: _
FHif Lﬂ'g;mrraaj Qamfli> eiyn IRM b sglose cwemfims wropsder Gurgy Ceealiu@hn
sEaomiluler Siamay _ R ' :
(A) 1220 sGwmh s o . (BY 750 sCarilmerr

.{C} 1100 EGE;JFFIHEG‘]T T . (D} 45'3.&'@9.}"[?]&6?!

55. Which of the following is an auto immune digease?

(A)  Asthma

(B  SCID

©) . AIDS :

(D’ Multiple Sclerosis

Erpmahw_eneugat &y Grgj FAI FGRL_BTUIL Gpmir?

(&)  syevgor .

(B) . fair é@rﬁlﬂ_ﬂﬁﬁﬁ BeoL sl e G
'(c} el |

D) udsal.G Qefle Gpmi

56, Where are Azores Islands found in?
| (A} Pacific Ocean

(BY  Arctic Ocean
'((iw Atlantic Ocean

(D) Indian Ocean _
ehg Auphaat el o Cmrey Samar o annbaarang?
{A) uds Qumris & '
(B) . .oy Gu@.n'ilﬂ;l_ﬁi}

TG snlwrets G-r_r@;r,rém__da

D) G Gughsd

. ATOGSN® 22 | | .



57,

58.

59.

Which is the first form of deatruction of natural resources?

(A Hunting - {B) Fishing

(C) Mining ' {D) Agriculture
Buipens susias o Srfefip@ apEed LigLms BHeminhss) oTF P

@) CanawnGaed - (B)  BanSygas

(C)  sgiusglsmfla O Ceerramans

The Drought Prone Area Programme (DPAP) was launched in the year of

(A) 1953 (B) 1963

<) 1973 S (D) 1967

@EHuradié ep’ A urdugl ued b (DPAP) Qem_dsdoc e sy
C(A) 1953 B) 1963

© 1973 | @) 1967

What was the language ‘accepted by the Pallavas for religioua rituals of the temples?

(A Sanskrit (B) Tamil

(C) Telugu (D) Malayalam
Canefld anfiunpaEnie ubadisemd owauBSsOuc L wmd ag?
(A)  swdvdmsb (B) zdp

(@) dpgprg D) Leowwmmb

In which year Madras University established?

(A) 1850 (B} 1957

1) 1950 . o 1857 -

Qénenants LdsenwispaDd Cenppefldsinc L sy erg?

(A) 1850 : (B) 1957

© 1950 | ' D) 1857
23
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6l.

- 62,

63,

LY

The site of . had a planned town, l:'}uilt on a platform.
{M Mohenjo-Dara (B Harappa
(C) Lothal (D}  Kalibangan

ef 2w g Cuenl g matg AL sLc iUl L BEmb
(A)  CQuoragegnCon - {B) apmiur
€y Cangga D) srellurmsn

What is the name of the main eollections of 1.iﬁe.-.ii-:: hymns?

(A) Upanishads ~ (B) Aranyakas
(C) Brahmanas | . - ([v Samhitas
Geuptinm_cseflen apsdling Gsn@rLselsn Qv srdtan?

(A)  eufh phas ' B) @yematEd
(©).  dymomrtiss - (D) sulassar

Ramariya waa defeated and killed in the battle of

(8 Talikota (B Panipat

{Cy Tarain {D) Haxar

@rmopmui srhs GurisersEd Gg;rrpbaalq.&asuﬁl'_@& QEmebarr L 7.

(A)  gewiCar L B) uraduc

(C}  slmder D) ussm

Jalaluddin Muhammad Akbar was born at Amarkest on 1542
(A) 220 November ' (B 23 November

(C) 25 November (D) 21% November

s rgddn npsbwg ST A9, 1542-b @ ehs prafid swrsGsmanulla Anhs.

(A pewbui22 (B) peubuir 23

(C) maubur 23 (D) peubuir 21

ATOGS/19 24



66.' Five kinds of writs are Habeas Corpus, Mandamus, Certiorari, Prohibitio_ﬁ and

G6.

67,

" (A)  Original jurisdiction (B) Appeliate jurisdiction
{_(w Quo Warrantoe {D} Miscellaneous jurisdiction
mba awesunel FH0 Curreaemsdr, oy Garamrcliy. deugimds. AedapenGa L, swmwnss
?
&) oaCapy aPenmreby - (B) Cuwéppapui () syflangembyy

(Cy  s@d dlagy Dy @enen G e

The Division of power is important in which form of Government?
(A)  Presidential form of Government

{(B) Collegiate form of Gnvernmenf

(Ci” Federal form of Government

(D) Unitary form of Government

Sfsmis LR THs D Sigsniagr apafiu sibswb?

(A)  Becaat ApaE STFTRISD

B) & o srerhsh '

©)  &Lorld gpen e:wérrrémm

(D}  gihamur £ peD SpEniisLD

According to the National Human Rights Commission Act, 1993, who amongat the following
can be its Chairman?

Y " Only a retired Chief Juatice of India

(B} Only a retire Chief Juatice of a High Court

{C}  Any Serving Judge of the Sup.reme Court

) Any Seﬁri:ig' Judge of tho High Court

Gafus wefls o Mensdr g s LD 1993dr Ly Speumueanaafic o HIEET HERAWUTTS
EasriLimT? . _

&) @du cssboampsda pda) Aupy seeaw FHud

(B) swikfwansden guiey Qupp samweno LS

O uehed Grésn wés fHivinsEa HUS

(D) - uefdd Hrégw o.wiffiodmpsdea fHus

25 ATOGS/19
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68.  Usually the pnﬁulatit:-n of a corporation is
{A) 5lakhs . By 7lakhs
{C) 8lakhs . ' {Dl 1.'3 iakhs
ERBTTRIIDNE Gqn omBaT_Audlen wéhaer mg&ms
(&) Selmd ' By Talsi

{C) Basmnh (D) 10aiab

69. In which part of the Constitution of India is State Government dealt with?

(A) PartIll : @) PartlV

(C) PartV- @y Part VI

BiHu arfuamoiniea quugHbd wrlle oraman vl dassoubdng?
A) Ilaguesd B Negusd

©  Vaugush D Viegued

70.  The Constituent Assembly adopted the National Anthem on
@) 26%January 1950
@)  12% August 1947 o
(C) 15t August 1947 .
('DV 24th January 1950
S Biramus oL Gadu S gppsdardraniul L prer
(A) 26 gasauf 1950
(B) 12 gymeor 1947
(C) 15 ymenl 1647

(D) 24 syaraufi 1950

ATOGS/9 ' 26



T1.

Match the following :

A

) (a) The Bank of Venice

- (b} Bank of England

{c) Bank of Bengal

(d) Bank of Amsterdam

(a) )y ()

- (A) 3 2 1

By 3 2 |

Lt & -
A

(a) Goueflecn ambid

(b)) Endanrmhg cutiél

(© aussrar aurivél

(d) coptbau i mb euriudl

(a) {b) {¢)

(A) 3 g 1

® 3 2z 4
o 1 2 3
@ 4 3 2

1.

4,

o)

{d)

1604
1806
1694

1157

1. 18089

2. 1806

3. 1694

4. 1157

27
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72. When was New Industrial Policy new trade policy introduced?

(A) 1817 N (B) 1960
) 1990 - w901
yfw Azmflh Qerdions, o euneflus Qardrens o pg Ly ofleflss L L g7
(A) 1817 a M@ 1960 '
() 1990 D) 1991

73, Match List I with List 11
List I . List IT
{a) Absolute Povarty Inefficient Housekeeping
Sub. employnient
Lack of basic needs

Structural poverty

{b) Ckronic Poverty

() Secondary Poverty
(d} Urban Poverty

-

{a) L) (c) (d)

o 2 4 1 2
® 4 3 2 1
{© 2 1 3 4
o 3 1 2 4.
quﬁi Iguiguailer e hun@g’igﬁ :
L gue I Ul I1
{a) oy eumeno 1. Sperwwupp RHbu Bransn
&) gpbbeme supao 2. Gauwma E_rrf}q
{c) @u‘dm_.mb_ fléner quanLo 8. ‘ SinousL cusdsdr Gdwnemn
{d) paTyD agyano 4. el SThE cumans

@ ® © @

() 3 a 1 2
B 4 3 2 1 -
© .2 1 3 4
D 3 1 2 4
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7.

5.

Who was elected as the President of the Indian National Congress in 1938?
(A) Mz Rajaji - - (B) Mr. Kamaraj

{Cy Mr. Jawaharlal Nekru A (DJ Mr. Subash Chandra Bose

19351]3.%@@ Enduw Caflu sridrde smaarts CorEOEHEaLCLeT wri?
(&) A gnggrgd _ (B)  &m. srwrrad .
Q) B mevammamme Crw : ' Dy fm. surcy sHAy Curgn

Which ie the correct chronclogical order of the following evgnté :

L Lucknow Pact
L Minto Marley reforms

III.  Partition of Bengal -
IV.  Burat Split

V."  Formation of the Muslim League

@) LILULIV,V

@ - V, IV IILIL1

O MOLILV, LIV

@y 1L v, 1v, 11, 1

igga:!@l.b Pleweysafien sfhurer s suflangFani mme -
I EEAT @UILIBSLE

Ii. flenGLnm inmirell Fird ez

ML eidsddfclamen

IV. ®yg9arey. -

V. apevehib a8 Camhmel sstiLpg

(4  LILIILIV,V

{B) V IVILILI

© TNLILV,IIV

@ LV, IV,IL1

29
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76, Umaithurai was impaled on
{A) November 16, 1802
(G November 16, 1801
BT SGUDHULL L. &0
(&) panduir 16, 1802
(C) menbur 16,1801

(B)
()

(B)
()

November 14, 1801
November 11, 1801

peubui 14, 1801
Fsuur 11, 1801

77. Theareacofa Fircle ie 154 sq.cm. What is the circumference of a circle?

(A) 28cm o 44 cm
{C) &8Bcm (I 108 em
L glar upiy 154 sgg Qs S erafls: il L sden spm cul Fdldn siene; étean?
(A) 28Qsd (B) 44 Qs.8
{C) 88 ds.f (D) 108 As.8
78. 'Find the missing number :
20160 q
? 4
480 8
96 24
(A) 860 (B) 1140
(CI), 2880 (D) 3240
el (Bl ereRmeneetd STENA
»
20160 4
? 4
480 8
o6 24
(A) 860 ®) 1140
(D) 3240

{Cy 2880

ATOGS/19
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79,

81.

The ratio § : 4 expressed as percent equals

A 125% (B) 40%
© 80% v’ 125%
5 - 4 arcp Alfsgfen spalip whlLTE

(A) 12.5% (B) 40%

) 80% O 125%

At present, the ratio between the ages of Arun and Deepak is 4 : 3, After 6 years, Arun's age
will be 26 yeara. What is the age of Deepak at present? '

&) 12 years - {M 15 years
(C) 191 years D 21 years

SHCOUNE, A wHpD Sué S ACwnAls anigaaien Afgh 4 : 3 6 ampLbsgrszy YnG

Simemflerr anwg 26, shGung Fusdlan anug Gn_sé'rm‘.?

{(A) 1Zawg {B) 15 auwg

€y 191 awwg D) 21 awy

Compute the Compound Interest for the principal Rz, 7,600 for 2 years at 4% per annum,

which is compounded annually.

(A) Rs.600 (B) Rs. 660

(C) Re. 680 - o Re. 612

e (HEE HBapdr MUy sersdldlar Uy, e @, 7.500-66 4% a@ sl B an g S 2
Iy siEnie B sulnd, HaUbgib s H ar qudéd b stdrs. |

A @ 600 ® @ 650

{C) - 680 | - (D w612

31 ATOGS/19
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BZ. The total surface area of a sphere is 144 = cm?, the volume of this sphere (in cm? is

(A 141 7 ® 72x
< 288 » @ 576

@ Geramsdan oourly = 144 1 cm? erafld, TGO Hem Siame (in cm?) @ erenam?

(A l44 7 - By "2nx
(C¢) 288« - (D) b6«
& 5 10 .
83. The HCFof -, —, —
eHCFof oo T o
. i .
' 5 30
= m =
© 3 3
6 5 . .10 . ... . .
711 SPBE oo 0 Sien BOQUE Quing e, earammang)?
@ T
5 30
(%) - ©) 7

84. Gayathri invested a sum of Re. 12,000 at 5% p.a. at compound interest. She received an

amount Ra. 13,230 after ‘n’ yeara. Find the value of 'n'.
{AI 2 years o (B) 3vyenrs
(O dyears (D) 6 years

aruSEA sramueit gy 12.000 g5 5% yen@ sl (B a1y b G susBudd 7' pambsgnds apsail
Qelgnt. seuf apg.ebles Agrens g5, 13.230 QuibprT arafld n ar wdUy ards.

(A) 2 myenBaar . (B) 3gyanpas
© 4gyerhed D) 5 gem@aar

ATOGS/19 32 : &



36.

8.

@

A

In a simultaneous throw of two dice, what is the probability of getting a total of 10 or 117

1 1
4 ® o
7 .1,5'

B usenL.si glr suwsded efeiufin Gung, s 10 g 11 dan &5 Flapgsa) wirg?
1 | | |

1 (B)
7

() ®)

o o | =
ml“‘ |

2

[

The sum of two numbers is 24 and their product is 143. Find the sum of the aguares of those

two munbers. _
(8) . 296 ' ' (B} 295

o 290 ®) 228
Pm orawrsaien mEge 24 whGD dumssd 143 aafid, Sealin danaaflen aissisalle amBad

BT,
@ 296 , ®) 295
(290 : ' {1y 228

Two vessels mﬁtain 30 liters and 50 liters of milk separately. What is thecai:-aaity qf-vesael&
if both share the milk equally :

{A) _ 80 liters (Eli(} liters

(C) 50 liters ' ' Dy 80liters

E)mesr(p Ljn,’sﬁur_éamaﬁér S0 s wpgnd 50 Slid urd geflgsaflurs o drarg.  Ereip
ungglyiisafign LiTeneod FADLDTEL] urﬁl@.l'_l_ﬂ'd} Elreim{h urlrﬁ,@ljn’ﬂﬂ&ﬂﬁﬁr Qamdramarey erenen?

(AY 30 &Sh i _ © (B) 40 &SiCun

(C)  50&8 i (D) 80 Bl

33 |  ATOGS/NSI
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88, If 40 persons consumes B0 kg, of rice in 15 days, the:_l in how many days will 30 persons

consume 12 kg. of riee

(&) 83days . el 1.days
{C) 61 days : 1Y) 9days
40 syt &t 60 ACwr sflflew 15 pm sl LueLQgsApTisd aafld, 30 o adr 12 -@Gml:r
sl erppenan prlseli LUGIGHS Qg LIb>? ' |

(4) 33 palad ' : (B} 4 pmisdr

(©) 61 prisar o @) 9 prisd

89. The volume of a cnﬁé is 216 7 cu.cm. If the base ral_ﬂ_ius is9 cn:!.- Find the height of the cone
(A} | 7em N : | (Blﬁcm |
(Cy ©6em _ (Y Bem
@m G mc,;as subdan son e 216 7 5Q.8. 26 subllar rd 9 Qeib. Gelld, sigen
- @ugg,mgi J— .
@ TQed . ® sess. .. o
© 6asd B S M 6 Q5.5

90. Kamaraj was famuué for his policy known as

(&) “L’Plan e (B) “M” Plan
(G “K’Plan (D) “R’ Plan
amqngﬁ+a'mm L gAbans L Aubpeui, .
(A L’ @L;_fn ) | B ‘M AHciw
(O K Soh D) R Puie
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91.

92.

93.

84.

Who has become the first Indian transgender to be hongured with Padma Shri Award?

W Narthaki Naten) (B) R.V. Ramani

(C) S.P.Kula ' " (DY Sureshni Mallika
ugio i eflapsy Quop Sdunellan apgd Amphuena wini? |

{A)  pisd mgrg) (B) ayi.efl. poesd)

{(Cy eramal @som - (I} =Creae wddfsn

In 1948 the firat Linguiatic Provinces Commission was headed by

" (A SK Dar (B) Sardar Patel
{C} Nehru _ (D) Lal Bahadur Shastri_
19486 mebwssOUL L. gpgarag Gwomfleami irsramn wyaetugfld saneweuir
(A)  orav.Ca. G B) sipri UGL®

. {0 Com D) o vagni srav

In 1975 emergecy rule was brought in our country by

fAY Morarji Deaai : (By V.P.Singh
{Cv Indira Gandhi | (D} Rajiv Gandhi
19755 .67 B B g0 Sicusy Flance o Aok Gunam(® cupseui
(A)  Qumymigd Cssmis B) A9, A

(© @oPorsipd ' (D) gnghe snpd

In. which toll free helpline number launced the Tamil Nadu government for womens facing
violence in domestic and office?

@a). 171 . o o® m

Gyl 181 - @) 161

di wppw mgeuesiseid Cdummsgnig afgrer gmqwmm sPOLshaTs SODHETGH
SIFATRISESSTE JPLHEEIULL Eoas Gasnc 2 68 sTam a7

@ 171 . ® 191

(C 181 | T @ 1s1
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95. How many Biosphere Reasrves occurs in India?
4 13 _ (B} I4

(Cy 17 : (Dlm

DipHurclii agepen e uliCsnar CrllGy ugdsar o dranen?

(A) 13 : (B) 14
) I (D) 18

06. World Cancer Day is observed every year on

{A) January 4 February 4

. (C) Marchd D) Aprl 4
o, e (s 2 ws UHRCEML Haud SigsfssiuBd prer ag?
(A) gmaafa . (B Adigeufl 4
(C) wniéd D) alpd 4

o97. Mycobacterium tuberculosis ia a | micrg Qrganism.

(A)  Viral _ (B) Fungal
©  Algal (W Bucterial
@wGsriudefud gy urEGaréle aeang — mang it KE0.
{A)  encuge B} yesms
) und I unswflwm

98.. In which year India has signed in the Nuclear Teat Bar Treaty (NTBT)?

(A) 1% July 1968 R & August 1963
(C)  10% April 1970 M) 4% May 1976
DG B L SE0L guuﬂjﬁﬂd} Bodur eQAupsi L oan® ag?
(8) gOawl, 1968 B) aysevl 8, 1863
(O o 10,1870 @) Guo4, 1975
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89.

Consider the following National Parks :
I Keoladeo National Park

- IL Dachigam Na tional Park

III.  Gir National Park
IV. Manas National Park

Which of the above National Park 1sfare 'lﬂcates:_l North of the tropic of cancer?

(&) + LandII only-

- (B) Ilonly
{0 TandIVonly

@” I T and IV only |
Blgmeumib Ga&lw Hiﬁlaarré;mﬁ saraf ;

1 ACuradGun Gaflu yhis

1I. Lm_#lgmn Gzl gr.é.:asn

I Se Gadlw g hisr

100,

IV.  omenmad Gedlw | husr

Gyl st I(}gs‘ﬂu LiisEmEsefe aglaaa 5L Crash el &6l ienbbgidmeng ?

(A Twhmo Il e Hib

(B) Il b _
_(C} [ whmd IV 1ol Hid
@ L I opmn IV wl Gib

When is National Girl Child day is celgbrated in India?

(Al 24t January _ ' (B} 24 February i '
© 20%January . (D) 20% February.
Epdwreiis; Gl Qus&r.@gﬁmg feb ahe mraftd Eml_lglq_ﬂ'iﬂilllulﬁﬂgﬂ}g]?
(A maneui 24 | B Aol 24
(@  sgeteul 20 M) Gcipaf 20
37 ATOGSMY
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